Mauerwerksfldchenberechnung Haus (4) 0G

Ly = (11,03 + 11,81 - 0,76) * 2 = L, 16m
Ay = 4,16 x 2,70 = 119,23m2
- 0,82 * 2,40 % k4 = - 17,87m2
- 0,98 » 1,70 « 4 = - 6,66m2
- 1,98 « 170 = - 3,37m2
- 1,00 » 2,63 x 4 = - 10,52m?
90,8 1m?

lye = 1,60+ 3,28 - 1,00 + 4,10 = 7,98m
Ay = 7,98 » 2,70 = 21,55m?2
- 0,90 * 2,23 = - 2,01m2
19,54m?

Ly = 4,12 + 3,85 + 0,99 + 3,70 + 150 + 100 +

+2,80 + 4,00 + 1,00 + 1,00 = 23,96m
A= 2396 « 2,70 = 64,69m?
- 0,90 = 2,23 *4 = - 8,03m?
- 1,00 = 2,23 = - 2,23m?
54,43m2
Ziegelanzahl und Mortel je m?
- 1 = = * * * = i
N3 = 075 + (0238 = 0072 165tk M= 3,8 » 10 = 0,12 = 4 = 18,24Liter
= 1 = = * * * = i
Ny = 038 + 0238 = 0072 10,55tk Moo= 25 = 10 = 0,12 = & = 12Liter
1 = 85tk M,= 1+ 10 = 0,12 = 4 = & 8liter

100,50 « (0,238 + 0,012
Ziegelanzahl und Mortel fur das 0G
Nyg= 90,81 * 16 = 1,05 = 1526Stk Mss = 90,81 = 18,24 » 1,2 = 1974Liter

Ny = 1954 « 105 « 1,05 = 2165tk My = 1954 « 12 « 1,2 = 282Liter

Nqy= 5443 8 « 105 = 4585tk My = 5443 « 4,8 = 12 = 31kLiter
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